ABSTRA	ACT OF OFFERS - CONSTRUCTION			ITATION NUMI -13-B-0010	BER	2. DATE ISSUED		DATE OPENED PAGE 1 OF 6			
4 188111	NG OFFICE		VV3 12DU	- 13-0-0010		07-Mar-13 11-Apr-13 Name and title of Certifying Official (Type)					
	Corps of Engineers, Phila		, orbitic	V 45 -4 1 5							
					ened, read, and	Signature Parts Date Signed 4/17/13					
	aker Building, Room 643			on this abstract		Signature	10 10 1	Date Signed •	111/11/2		
	n Square East		received	in response to t	nis solicitation.						
	ohia, PA 19107-3390										
5. PROJ	ECT TITLE		8 (GOVERNMENT ES	TIMATE	9. OFFERS NO.: 1 (LB) NO.: 2 (LB)					
FLOOD	CONTROL & COASTAL EMERGENCY REPAIR, I	RARNEGAT					GREAT LAKES	A. OFFEROR	LD)		
	O LITTLE EGG INLET (LONG BEACH ISLAND) C		(Onet	AA, BUI Callu Co	implete D, E, aliu F.)	DREDGE & DO			STRUCTION CO		
	Y, NEW JERSEY	OLAIN.		A. HIRED LAB	1 D	2122 YORK R			RGINAL WAY S.		
000111	1, NEW OLIVOL			A. HINED LAD	JK	I .					
				D DEACONAD	LE CONTRACT	OAK BROOK,		SEATTLE, WAS			
			х			B. Bid Security (T BID BOND 209	6	B. Bid Security (Ty BID BOND 20%	;)		
6. NUMI	BER OF AMENDMENTS ISSUED 0001 and 0002			C. REASONAE	LE CONTRACT	C. Amendment YES	Acknowledged	C. Amendment YES	Acknowledged		
7A.	7B.	7C.	D.	E.	F.	E.	<u> </u>	E.	F		
ITEM	DESCRIPTION OF OFFERED ITEM	EST.	UNIT	UNIT	ESTIMATED	UNIT	ESTIMATED	UNIT	F. ESTIMATED		
No.	DESCRIPTION OF CIVED TIEM	QUANTITY	UNIT	PRICE	AMOUNT	PRICE	AMOUNT	1			
140.	BASE BID ITEMS:	QUANTITI		PRICE	AMOUNT	PRICE	AIVIOUNT	PRICE	AMOUNT		
4	Mobilization & Demobilization		105	ا ، ا	M4 004 500 00	, _	0404500000	,_	07.070.000.00		
	BRANT BEACH:	1	JOB	LS	\$4,291,532.00	LS	\$4,345,000.00	LS	\$7,250,000.00		
	Beachfill	880,000	C.Y.	\$10.00	\$8,800,000.00	\$8.45	\$7,436,000.00	\$12.50	\$11,000,000.00		
	Dune Crossover Repairs			, , , ,	4-1	40.10	ψ,,.σσ,σσσ.σσ	412.00	ψ (1,000,000.00		
ĺ	3a. Pedestrian Dune Crossover	26,000	S.F.	\$6.55	\$170,300.00	\$5.20	\$135,200.00	\$10.00	\$260,000.00		
	3b. Vehiclar Dune Crossover	3,900		\$16.34	\$63,726.00		\$16,185.00	\$8.00	\$31,200.00		
	3c. Handicap Dune Crossover	245		\$202.27	\$49,556.15		\$56,350.00	\$270.00	\$66,150.00		
4	Post & Rail Fence	450		\$41.18	\$18,531.00		\$6,412.50	\$18.00	\$8,100.00		
	Dune Grass Planting	65,000		\$4.95	\$321,750.00		\$218,400.00	\$4.00	\$260,000.00		
	Sand Fence	12,500		\$5.11	\$63,875.00		\$85,625.00	\$8.00			
	Structures Monitoring	12,500	JOB		\$38,639.00				\$100,000.00		
	MEC Modifications & Monitoring	1	JOB		\$195,450.00		\$32,500.00	LS LS	\$25,000.00		
	Deleted	!] JOB	ادعا	\$195,450.00	LO	\$36,000.00	LS	\$100,000.00		
	Name the State of NJ & Long Beach Township as	1	JOB	LS	\$1,217.00	LS	¢4 000 00	1.6	£4.00		
10	additional insured under General Liability Insurance		100	LO	Φ1,217.00	LO	\$1,000.00	LS	\$1.00		
	additional insured under General Liability insurant	æ 1									
NOTE:	THE IGE HAD A MATHEMATICAL ERROR AN	i D HAS BEEN (i CORREC	ED							
									-		
				}							
					,	1					
			1								
					•						
L		J.,	<u> </u>	<u> </u>							

ABSTRA	ACT OF OFFERS - CONSTRUCTION			OTATION NUM -13-B-0010	BER	2. DATE ISSUED		DATE OPENED PAGE 2 OF 6		
US Army	NG OFFICE corps of Engineers, Phila		I CERTIF	Y that I have on	pened, read, and	Name and title of Certifying Official (Type)				
	ker Building, Room 643			on this abstract		Signature Date Signed				
	n Square East		received	in response to t	his solicitation.				-	
	phia, PA 19107-3390						a.			
5. PROJ	ECT TITLE						9. OFFE			
ELOOD	CONTROL & COASTAL EMERGENCY REPAIR, E		GOVERNMENT ES		NO.: 1		NO.: 2			
INI ET T	O LITTLE EGG INLET (LONG BEACH ISLAND) O	(Chec	CKA, Bor Candico	mplete D, E, and F.)	A. OFFEROR		A. OFFEROR			
	O LITTLE EGG INCET (LONG BEACH ISLAND) OF Y, NEW JERSEY		A LUDED LAD	O.D.	IGREAT LAKES	DREDGE & DOCK	IVIANSON CON	STRUCTION CO.		
COOKI	I, NEW JERGET		A. HIRED LAB	UR						
CONTIN	UED	~	B. REASONAE	BLE CONTRACT	B. Bid Security (Ty	rpe and Amount)	B. Bid Security (Ty	pe and Amount)		
	BER OF AMENDMENTS ISSUED 0001 and 0002	^	C. REASONAE	BLE CONTRACT	C. Amendment	Acknowledged	C. Amendment Acknowledged			
7A.	· 7B.	7C.	D.	E.	F,	E. T	F.	E. T	F.	
ITEM	DESCRIPTION OF OFFERED ITEM	EST.	UNIT	UNIT	ESTIMATED	UNIT	ESTIMATED	UNIT	ESTIMATED	
No.		QUANTITY		PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	
	SURF CITY:		• • • •			11114-		111102		
11	Beachfill	280,000	C.Y.	\$8.95	\$2,506,000.00	\$8.00	\$2,240,000.00	\$12.50	\$3,500,000.00	
	Dune Crossover Repairs	·			,-,,		* -,- ·-,- ·		V 0,000,000.0V	
	12a. Vehicular Dune Crossover	13,200	S.F.	\$16.09	\$212,388.00	\$4.15	\$54,780.00	\$8.00	\$105,600.00	
	12b. Handicap Dune Crossover	210	Ł.F.	\$235.98	\$49,555.80	\$230.00	\$48,300.00	\$270.00	\$56,700.00	
13	Split Rail Fence	7,300	L.F	\$41.03	\$299,519.00	\$12.40	\$90,520.00	\$22.00	\$160,600.00	
	Dune Grass Planting	60,000		\$4.95	\$297,000.00		\$201,600.00	\$4.00	\$240,000.00	
15	Sand Fence	8,000	ı		\$40,880.00	\$7.75	\$62,000.00	\$9.00	\$72,000.00	
	Structures Monitoring	1	JOB		\$38,639.00		\$18,600.00	LS	\$25,000.00	
17	Removal & Disposal of Private Dune Crossovers	10	EA.	\$5,313.81	\$53,138.00		\$20,000.00	\$1,200.00	\$12,000.00	
18	MEC Modifications & Monitoring	1	JOB		\$195,450.00		\$36,000.00	LS	\$50,000.00	
19	Deleted				•		, ,		¥,¥	
	Name of State of NJ & Surf City Borough as	1	JOB	LS	\$1,217.00	LS	\$1,000.00	LS	\$1.00	
	additional insured under General Liability Insuranc	e	-]					·	
	HARVEY CEDARS:									
	Beachfill	840,000	C.Y.	\$9.00	\$7,560,000.00	\$7.85	\$6,594,000.00	\$12.50	\$10,500,000.00	
	Dune Crossover Repairs			. :						
	22a Pedestrian dune Crossover	47,500		\$6.05	\$287,375.00	\$5.20	\$247,000.00	\$13.00	\$617,500.00	
	22b Vehicular Dune Crossover	20,400		\$16.05	\$327,420.00	1	\$84,660.00	\$8.00	\$163,200.00	
	22c Handicap Dune Crossover	240		\$206.49	\$49,557.60		\$62,400.00	\$270.00	\$64,800.00	
23	Rebuild Handicap Dune Crossover (Mercer Street	1	JOB		\$81,960.00	LS	\$116,000.00	LS	\$140,000.00	
	Post & Rail Fence	10,000		\$41.02	\$410,200.00		\$142,500.00	\$17.00	\$170,000.00	
25	Dune Grass Planting	140,000			\$693,000.00		\$470,400.00		\$560,000.00	
	Sand Fence	13,300		\$5.11	\$67,963.00		\$103,075.00	\$9.00	\$119,700.00	
	Structures Monitoring	1	JOB		\$38,639.00	1 (\$38,000.00	LS	\$25,000.00	
	MEC Modifications & Monitoring Deleted	1	JOB	LS	\$195,450.00	LS	\$36,000.00	LS	\$50,000.00	
	Name of State of NJ & Harvey Cedars Borough as	A	105		Φ4 047 00	 	04 000 00		A 4.5-	
	additional insured under General Liability Insuranc		JOB	LS	\$1,217.00	LS	\$1,000.00	LS	\$1.00	
	TOTAL ESTIMATED BASE BID AMOUNT:				\$27,421,144.65		\$23,036,507.50		\$35,732,553.00	

4. ISSUING OFFICE US Army Corps of Engineers, Phila Wanamaker Building, Room 643 100 Penn Square East Philadelphia, PA 19107-3390 5. PROJECT TITLE FLOOD CONTROL & COASTAL EMERGENCY REPAIR, BARNEGAT INLET TO LITTLE EGG INLET (LONG BEACH ISLAND) OCEAN COUNTY, NEW JERSEY CONTINUED B. REASONABLE CONTRACT CONTROL B. Bid Security (Type and Amount) C. REASONABLE CONTRACT C. Amendment Acknowledged 0001 and 0002 7A. 7B. 7C. D. E. F. E. F. E. F.
100 Penn Square East Philadelphia, PA 19107-3390 5. PROJECT TITLE FLOOD CONTROL & COASTAL EMERGENCY REPAIR, BARNEGAT INLET TO LITTLE EGG INLET (LONG BEACH ISLAND) OCEAN COUNTY, NEW JERSEY CONTINUED B. REASONABLE CONTRACT X C. REASONABLE CONTRACT C. Amendment Acknowledged
8. GOVERNMENT ESTIMATE (Check A, B or C and complete D, E, and F.) NO.: 1 (LB)
FLOOD CONTROL & COASTAL EMERGENCY REPAIR, BARNEGAT INLET TO LITTLE EGG INLET (LONG BEACH ISLAND) OCEAN COUNTY, NEW JERSEY A. HIRED LABOR B. REASONABLE CONTRACT X C. REASONABLE CONTRACT O001 and 0002 A. OFFEROR GREAT LAKES DREDGE & DOCK MANSON CONSTRUCTION CO B. Bid Security (Type and Amount) B. Bid Security (Type and Amount) C. Amendment Acknowledged C. Amendment Acknowledged C. Amendment Acknowledged
INLET TO LITTLE EGG INLET (LONG BEACH ISLAND) OCEAN COUNTY, NEW JERSEY A. HIRED LABOR B. REASONABLE CONTRACT X 6. NUMBER OF AMENDMENTS ISSUED 0001 and 0002 GREAT LAKES DREDGE & DOCK MANSON CONSTRUCTION CO B. Bid Security (Type and Amount) B. Bid Security (Type and Amount) C. REASONABLE CONTRACT C. Amendment Acknowledged C. Amendment Acknowledged
COUNTY, NEW JERSEY A. HIRED LABOR CONTINUED B. REASONABLE CONTRACT X 6. NUMBER OF AMENDMENTS ISSUED 0001 and 0002 A. HIRED LABOR B. Bid Security (Type and Amount) C. REASONABLE CONTRACT C. Amendment Acknowledged C. Amendment Acknowledged
CONTINUED B. REASONABLE CONTRACT X B. Bid Security (Type and Amount) B. Bid Security (Type and Amount) C. REASONABLE CONTRACT C. Amendment Acknowledged C. Amendment Acknowledged
6. NUMBER OF AMENDMENTS ISSUED 0001 and 0002 C. REASONABLE CONTRACT C. Amendment Acknowledged C. Amendment Acknowledged
0001 and 0002
7A. 7B. 7C. D. E. F. E. F. E. F.
ITEM DESCRIPTION OF OFFERED ITEM EST. UNIT UNIT ESTIMATED UNIT ESTIMATED UNIT ESTIMATED
No. QUANTITY PRICE AMOUNT PRICE AMOUNT PRICE AMOUNT
OPTION BID ITEMS
BRANCH BEACH BEACHFILL: 31 Option 1 - Beachfill 30,000 C.Y. \$10,00 \$300,000,00 \$7,90 \$237,000,00 \$9,50 \$285,000
1
33 Option 3 - Beachfill 100,000 C.Y. \$10.00 \$1,000,000.00 \$7.90 \$790,000.00 \$9.50 \$950,000.00 \$URF CITY BEACHFILL:
34 Option 4 - Beachfill 10,000 C.Y. \$8.93 \$89,300.00 \$7.80 \$78,000.00 \$9.50 \$95,000.00 \$35 Option 5 - Beachfill 50,000 C.Y. \$8.93 \$446,500.00 \$7.80 \$390,000.00 \$9.50 \$475,000.00 \$1
36 Option 6 - Beachfill 75,000 C.Y. \$8.93 \$669,750.00 \$7.80 \$585,000.00 \$9.50 \$712,500.00
37 Option 7 - Sand Fence (Intra-Street Pedestrian 9,300 L.F. \$5.11 \$47,523.00 \$8.25 \$76,725.00 \$11.00 \$102,300.00
Crossovers)
HARVEY CEDARS BEACHFILL:
38 Option 8 - Beachfill 375,000 C.Y. \$9.02 \$3,382,500.00 \$7.30 \$2,737,500.00 \$9.50 \$3,562,500.
39 Option 9 - Beachfill 200,000 C.Y. \$9.02 \$1,804,000.00 \$7.30 \$1,460,000.00 \$9.50 \$1,900,000.
40 Option 10 - Beachfill 100,000 C.Y. \$9.02 \$902,000.00 \$7.30 \$730,000.00 \$9.50 \$950,000.
41 Option 11 - Post & Rail Fence (Intra-Street 6,000 L.F. \$41.03 \$246,180.00 \$14.50 \$87,000.00 \$18.00 \$108,000.00
T edestrian Orossovers
TOTAL ESTIMATED BASE BID AND ALL OPTIONS AMOUNT: \$36,808,897.65 \$30,602,732.50 \$45,347,853.

ABSTRACT OF OFFERS CONSTRUCTION CONTINUATION SHEET

1. SOLICITATION NUMBER W912BU-13-B-0010 PAGE 4 OF 6

INSTRUCTIONS - Attach this form to OF 1419, Abstract of Offers - Construction, when more than 2 offers are received on a construction project. Each Continuation Sheet will accommodate 14 contract items to conform to the number of items which can be entered on the OF 1419. Use additional OF 1419's for contract items in excess of 14 and attach additional Continuation Sheets (OF 1419A) as needed.

ļ	Continuation Sheets (OF 1419A) as needed.										
2. PROJE	ECT TITLE						OFFERS (Continued)				
				(LB)	NO.: 4		NO.: 5		NO.: 6		
				WEEKS MARINE,	A. OFFEROR	OFFEROR		A. OFFEROR		}	
EMERGENCY REPAIR			INC/304 GAILLE DR/INNWOODS								
1			BUSINESS PARK								
				COVINGTON, LA 70433							
				B. BID SECURITY (TYPE AND AMOUNT)		B. BID SECURITY (Type and Amount)		B. BID SECURITY (Type and Amount)		TY (Type and Amount)	
	CONTINUED			BID BOND 20%				(,),,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		7	
3. CONTRACT ITEMS		C. AMENDMENT ACKNOWLEDGED		C. AMENDMEN	T ACKNOWLEDGED	C. AMENDMEN	T ACKNOWLEDGED	C. AMENDMENT ACKNOWLEDGED			
Α.	B.	C.	YES					•			
	ESTIMATED	UNIT	D. UNIT	E. ESTIMATED	D. UNIT	E. ESTIMATED	D. UNIT	E. ESTIMATED	D. UNIT	E. ESTIMATED	
NO.	QUANTITY		PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	
	BASE BID										
1	1	JOB :	LS	\$8,150,000.00							
	NT BEACH										
2	880,000	CY	\$16.25	\$14,300,000.00							
1 .	CROSSOVĖI		1								
3a	26,000	SF	\$6.00	\$156,000.00							
3b	3,900	SF	\$5.00	\$19,500.00	:			**	, , , , , , , , , , , , , , , , , , , ,		
3c	245	LF	\$300.00	\$73,500.00							
4	450	LF	\$15.00	\$6,750.00							
5	65,000	SY	\$4.00	\$260,000.00							
6	12,500	LF	\$7.00	\$87,500.00							
7	1	JOB	LS	\$50,000.00							
8	1	JOB	LS	\$100,000.00							
9	DELETED	_						á.			
10	1	JOB	LS	\$1,000.00							
1	SURF CITY:										
11	280,000	CY	\$14.00	\$3,920,000.00							
	CROSSOVE										
	13,200	SF		\$66,000.00							
12b	210	LF	\$300.00	\$63,000.00							
13	7,300	<u>LF</u>	\$15.00	\$109,500.00							
14	60,000	SY	\$4.00	\$240,000.00							
15	8,000	LF	\$10.00	\$80,000.00							
16	1	JOB	LS	\$50,000.00							
17	10	EA.	\$4,000.00	\$40,000.00							
18	1	JOB	LS	\$100,000.00							
19	DELETED										
20	1	JOB	LS	\$1,000.00							
	EY CEDARS				1						
21	840,000	CY	\$14.00	\$11,760,000.00							
L											

ABSTRACT OF OFFERS CONSTRUCTION **CONTINUATION SHEET**

1. SOLICITATION NUMBER W912BU-13-B-0010

PAGE 5 OF 6

INSTRUCTIONS - Attach this form to OF 1419, Abstract of Offers - Construction, when more than 2 offers are received on a construction project. Each Continuation Sheet will accommodate 14 contract items to conform to the number of items which can be entered on the OF 1419. Use additional OF 1419's for contract items in excess of 14 and attach additional

				Continuation Sheets (C		v. Use additional OF 14 Jeeded	F19 S TOF CONTIAC	thems in excess of 14	and attach addi	uonai	
2. PROJ	ECT TITLE						OFFERS (Continued)				
			NO.: 3		NO.: 4	,	NO.: 5		NO.: 6	0-1000	
FLOOD	CONTROL & C	COASTAL			A. OFFEROR		A. OFFEROR		A. OFFEROR		
EMERGI	EMERGENCY REPAIR		WEEKS MAR	INE, INCORPORATED	d						
			B. BID SECURITY (TYPE AND AMOUNT) B		B. BID SECURITY (Type and Amount)		B. BID SECURITY (Type and Amount)		B. BID SECURITY (Type and Amount)		
	CONTINUED		BID BOND 20%			,				,	
3. C	ONTRACT ITE			T ACKNOWLEDGED	C. AMENDMEN	T ACKNOWLEDGED	C. AMENDMEN	T ACKNOWLEDGED	C. AMENDMEN	T ACKNOWLEDGED	
A.	B.	C.	YES								
	ESTIMATED	UNIT	D. UNIT	E. ESTIMATED	D. UNIT	E. ESTIMATED	D. UNIT	E. ESTIMATED	D. UNIT	E. ESTIMATED	
NO.	QUANTITY		PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	
	EY CEDARS										
	E CROSSOVE										
22a	47,500	SF	\$6.00	\$285,000.00							
22b	20,400	SF	\$5.00	\$102,000.00							
22c	240	LF	\$300.00	\$72,000.00							
23	1	JOB	LS	\$125,000.00							
24	10,000	LF	\$14.00	\$140,000.00						•	
25	140,000	SY	\$4.00	\$560,000.00							
26	13,300	LF	\$9.00	\$119,700.00							
27	1	JOB	l I	\$50,000.00							
28	1	JOB	LS	\$100,000.00							
	DELETED										
30		JOB		\$1,000.00							
	ESTIMATED E	BASE BID AN	IOUNT:	\$41,188,450.00							
	N BID ITEMS										
	BEACH BEAC	HFILL:						·			
	OPTION 1										
31	30,000	CY	\$13.00	\$390,000.00							
	OPTION 2							· -			
32		CY	\$13.00	\$650,000.00							
	OPTION 3										
33	, ,	CY	\$13.00	\$1,300,000.00							
	ITY BEACHFI	LL:									
	OPTION 4										
34	, , , , , , ,	CY	\$20.00	\$200,000.00							
1 1	OPTION 5										
35		CY	\$11.00	\$550,000.00							
	OPTION 6							**			
36		CY	\$11.00	\$825,000.00							
<u> </u>	OPTION 7										
37	9,300	LF	\$7.00	\$65,100.00							

ABSTRACT OF OFFERS CONSTRUCTION **CONTINUATION SHEET**

1. SOLICITATION NUMBER W912BU-13-B-0010

PAGE 6 OF 6

INSTRUCTIONS - Attach this form to OF 1419, Abstract of Offers - Construction, when more than 2 offers are received on a construction project. Each Continuation Sheet will accommodate 14 contract items to conform to the number of items which can be entered on the OF 1419. Use additional OF 1419's for contract items in excess of 14 and attach additional

				Continuation Sheets (C	F 1419A) as n	eeded.		, , , , , , , , , , , , , , , , , , , ,			
2. PROJ	ECT TITLE						OFFERS (Continued)				
NO.: 3				NO.: 4		NO.: 5		NO.: 6			
			A. OFFEROR			A. OFFEROR		A. OFFEROR			
EMERGENCY REPAIR WEE		WEEKS MAR	INE, INCORPORATED								
			7								
					B. BID SECURITY (Type and Amount)		B. BID SECURITY (Type and Amount)		B. BID SECURITY (Type and Amount)		
	CONTINUED	RAC	BID BOND 20%						<u> </u>		
A. B. C.		C. AMENDMENT ACKNOWLEDGED YES		C. AMENDMENT ACKNOWLEDGED		C. AMENDMENT ACKNOWLEDGED		C. AMENDMENT ACKNOWLEDGED			
	ESTIMATED	UNIT	D. UNIT	E. ESTIMATED	D. UNIT	E. ESTIMATED	D. UNIT	E. ESTIMATED	D. UNIT	E. ESTIMATED	
NO.	QUANTITY	OIVII	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	
	CEDARS BE	ACHFILL:				7.1110-0111	11402	/////	11102	AMOUNT	
	OPTION 8										
38		CY	\$11.00	\$4,125,000.00							
	OPTION 9										
39	200,000	CY	\$11.00	\$2,200,000.00							
	OPTION 10										
40	100,000	CY	\$11.00	\$1,100,000.00							
	OPTION 11	LF		* 0.4.000.00]						
41	6,000		\$14.00	\$84,000.00						· · · · · · · · · · · · · · · · · · ·	
										•	
TOTAL	STIMATED B	ASE BID AL	L A OV								
	S AMOUNT:	ACE DID AI	10 ALL	\$52,677,550.00							
	1		1	402 ,011,000,00							
	·										
	1										

	1										
,											
							4 4				
ı	1				1						
	l		'								
		. =									
					<u> </u>						